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1. The	value	of	the	polynomial 9k at 	 i=(-4) , j=(-2) ,k=0	 is
(i) -1 (ii) -3 (iii) 0 (iv) 3 (v) 1

2. The	value	of	the	polynomial 2b2	 at 	a=(-1) ,b=0,c=(-4) 	 is

(i) -3 (ii) 3 (iii) 0 (iv) -1 (v) 1

3. The	value	of	the	polynomial (4lm−m) at 	k=(-5) , l=1,m=(-3) 	 is
(i) -10 (ii) -8 (iii) -6 (iv) -9 (v) -12

4. The	value	of	the	polynomial (8kl+7km2
	 ) at 	k=(-3) , l=3,m=(-2) 	 is

(i) -157 (ii) -154 (iii) -159 (iv) -156 (v) -155

5. The	value	of	the	polynomial (4bc−cd−9) at 	b=4,c=1,d=(-5) 	 is
(i) 12 (ii) 13 (iii) 10 (iv) 11 (v) 14

6. The	value	of	the	polynomial (−8b2	 cd
2
	 −5bd−6c) at 	b=3,c=(-5) ,d=3	 is

(i) 3224 (ii) 3227 (iii) 3223 (iv) 3226 (v) 3225

7. The	value	of	the	polynomial (4bcd−bc−c) at 	b=5,c=3,d=(-4) 	 is
(i) -258 (ii) -261 (iii) -255 (iv) -259 (v) -257

8. The	value	of	the	polynomial (−4b2	 +5bc−5b) at 	b=4,c=(-1) ,d=3	 is

(i) -103 (ii) -105 (iii) -104 (iv) -102 (v) -107

9. The	value	of	the	polynomial (−6) at 	s=(-3) , t=(-3) ,u=(-1) 	 is
(i) -6 (ii) -8 (iii) -5 (iv) -4 (v) -7

10. The	value	of	the	polynomial 0 at 	 l=(-1) ,m=(-5) ,n=3	 is
(i) 1 (ii) 3 (iii) -3 (iv) -1 (v) 0

11. The	value	of	the	polynomial 6r at 	 r=4,s=(-1) , t=1	 is
(i) 24 (ii) 23 (iii) 27 (iv) 25 (v) 21

12. The	value	of	the	polynomial (−4pq2	 ) at 	o=5,p=(-4) ,q=(-5) 	 is

(i) 400 (ii) 399 (iii) 403 (iv) 401 (v) 398

13. The	value	of	the	polynomial (−8st−8tu) at 	s=3,t=4,u=2	 is
(i) -158 (ii) -163 (iii) -160 (iv) -161 (v) -159



14. The	value	of	the	polynomial (8f2	 g
2
	 h+9f) at 	 f=5,g=4,h=4	 is

(i) 12844 (ii) 12842 (iii) 12848 (iv) 12845 (v) 12846

15. The	value	of	the	polynomial (−5cde−9cd+4de) at 	c=1,d=(-1) ,e=(-4) 	 is
(i) 2 (ii) 4 (iii) 8 (iv) 5 (v) 6

16. The	value	of	the	polynomial (−3jk+4jl−9l) at 	 j=(-1) ,k=2, l=2	 is
(i) -21 (ii) -18 (iii) -22 (iv) -19 (v) -20

17. The	value	of	the	polynomial (6su−4tu−8) at 	s=2,t=3,u=3	 is
(i) -10 (ii) -9 (iii) -6 (iv) -7 (v) -8

18. The	value	of	the	polynomial (6d−2ef2	 −6f) at 	d=0,e=(-2) , f=(-3) 	 is

(i) 51 (ii) 56 (iii) 55 (iv) 53 (v) 54

19. The	value	of	the	polynomial 7 at 	k=(-1) , l=(-2) ,m=(-5) 	 is
(i) 8 (ii) 7 (iii) 6 (iv) 4 (v) 10

20. The	value	of	the	polynomial 0 at 	 i=(-1) , j=(-1) ,k=5	 is
(i) 3 (ii) -1 (iii) -2 (iv) 1 (v) 0
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